N = 0l & At & Ml A

2N HERED
a: Mg ITe RE(2SHUBY/HS)
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2 2,195,000 2,195,000 0
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01 At 2teltl 65,752 88,280 A22,528
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ORALAI| Y (HMEY)
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Het=sasedy 29 372,143 477,560 A~ 105,417
201 et 133,543 198,760 A65,217
01 Ak 2tel 16,200 18,000 ~1,800




o o o o o o o [ [ o o o o o o o o o oD O O O <t <t <t — ™ o o o o
o o o o o o o — — o o o o o o o (@] o o O O O < < < (o] O o o o o
N © <9 < Qe e - N | ® | © || < < = Sl ®e O | Q@Y © ~N e < R
A0 — < S = -w g o SIS S lwe e o N N — |5 22x8|o || < — | w |wv < —
Ko < Jd < 4 <4 < < < J 14 J 1< 14 < < < < M M <1< |« < |4 (< < <
El
E=]
o o o o o o o o o o o o o o o o o o o O Al — o o o o o o o o o
o o [¢e) o o o o o o o o o o o o o o o O < O < < < < <t o o o o o
< e N < T S| R |*® |2 |= < < < ST o~ 2o ~ Ol |< < <
[aV] (<o) o o [a\] [e6] o o o <t <t <t < < o (] <t (] o M Mm ™M < o o — [aV] — [Tg] o [Te]
(s} - -
< [ep]
R0
m
o o () o o o (a2 [ep) o o o o o o o <t o Al Ad (<o) [Co) (<o) [e)) N~ o o o o
o o O o o o [e 0] [e 0] o o o o o o w0 < 0 ™M (o)) [0)) (o)) Ye) [ep] o o o o
« N N < e < 1 it © |«@ < < < S|l STo ¥ | NN N o ~ e < Ly
o Ye) o [<o] — o [<o] (<o) o0} o0} o [ee] — (o)) Al < M w0 © — — Tg) ()] (<o) o
ar ¥ i
<
=
U=
ol o o oo W W o o o o o T Ry ! !
3 3 3 8 8 ° S 3 3 3 8 3 W3 8 3
< < < S 2 R < < < < < & 9 Rl < < <
or o o o o o ™ o o o o K o5 =~ o o
S S S S & RO @ S S S S HNO [ o S S
MO [e6] <t o o o [Ye) o o (<o) o _BH_ Ye) m N~ o [Ye)
; ; ; = & ; ; ; = ; R ; ;
) S _ w6 < o © 8 5° & _°© Zr Cr & =2
. 20 R0 20 Z0 RO 20 20 R o T RO TR0 0RO - -
30 g RURO m oz o RO 0 =M zm m s K R = RO
< X R Edl = ]
Ik -~ - =3 ~ il
el n0 R N 0
= i rd 3l e
; = = t o 5 -~
—~ — o — n
= = o 5 0
= = =4 i iy o ﬂ_w K0 &
ol R I 5 G i <
— 0k RD - ~ iy o =
o - N T 20 o [ =
) = 3r no = < o = -
0 00 20 | % ur = ol w | < 3 pd mo
K W< o | i = = | o ) PN 70
Rl = &0 5| rd 00 0E o | 3= Al = 0 Bl
R0 O O |~ = O O = | ol |® al @
. — | To) oJ — |o® N~
o | — =) = | o |S o
™ < =S ™ ™

PNy
=}




2N
X ZH -
L= B

el

H=dsh
Hegooet IF(2L22/HK)
Hsgd &4

SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
=AM =SUS XA 384,700 426,000 A 41,300
307 gl2tol & 384,700 426,000 A 41,300
04 DI2ZHHALALSE E X 384,700 426,000 A 41,300
ORM403 S=ALMSUE HEBH(EXE &
o) (Ol ArE 2E) 2 & 121,500,000 121,500 135,000 A 13,500
OHM40s =AM SUHE SEHS NA(BExS8
HH)(oaEZ) 2 222,300,000 222,300 243,000 A 20,700
OHM40s F=ACUHMSUHE sNSsW NI (2
A8 FA)(oaE) d & 34,400,000 34,400 40,000 A5,600
OM40s F=ALHMSUHE &It 22 X A(
Ol A& 2)) 2 & 6,500,000& 6,500 8,000 A 1,500
I=CUHSHASIHNA 304,300 310,000 25,700
307 glzZtol & 304,300 310,000 A5,700
04 QIZFHALAIR B = 14,300 20,000 A5,700
OHM573 ZFE2ECHSUE LA 2 (0l &E
Z) 2 & 14,300,000& 14,300 20,000 25,700
ANEINESSEMSUHE X 84,000 90,000 A 6,000
307 clztol & 84,000 90,000 A 6,000
04 QIZFHALAIH B = 84,000 90,000 A 6,000
OAZIl &5¢ MsUa Mz XNA(BExE §
) (ol atE2) Z & 84,000,000 84,000 90,000 A 6,000
studEs4did 253,900 255,600 A1,700
307 glz2+ol & 253,900 255,600 A 1,700
04 QIZFHALAIH B = 15,300 17,000 A1,700
OZ8g 2E dsUs HIHZH(Ex8 3Y)
(Ol &HE 2H) 2 & 9,000,000& 9,000 10,000 A 1,000
ORXsesl ZEZeHMsUs It N (X8
o) (ol aE ) 2 & 6,300,000& 6,300 7,000 A700
MEHsiletasidE 4,500 5,000 A 500
307 glz2+ol & 4,500 5,000 A 500
04 DI2HHALALSE E X 4,500 5,000 A 500
OMSHEXNET = IO XS (0=
2 & 4,500,000& 4,500 5,000 A 500
SSEUHEHIHEHI XS 54,000 60,000 A 6,000
307 gl2tol & 54,000 60,000 A 6,000
04 DIZHHALALSE E X 54,000 60,000 A 6,000
OZ=SE M=sUs &I 2 N (0EZ)
2 & 54,000,000 54,000 60,000 A 6,000
NESELUHS X 156,300 17,000 A 1,700
307 glztol & 15,300 17,000 A 1,700
04 DIZFHALALSE E X 15,300 17,000 A 1,700
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SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
OAl WEE dLHal JHEl X2 (0l a2
23 5,400,000 5,400 6,000 A 600
O NS HdLHal o XN (oaE2)
2 & 8,100,000 8,100 9,000 A 900
OF= NEZ AUl &IF X (o &=
23 1,800,000 1,800 2,000 A 200
=AM HE XA 124,350 131,500 AT,150
201 Let249] 1,350 1,500 A 150
01 At 22l 1,350 1,500 A 150
O&d=03 2 =9 MAE(CAE2)
2 & 450,000 450 500 A50
O&=U3 2 E22 MAE(HAEL)
2 & 900,000 900 1,000 A 100
307 21201 A 123,000 130,000 A7,000
04 DIZHHALALSE E X 123,000 130,000 A7,000
O&= 2 ctHe =i (28 FU)(
Ol &FE ) 2 & 123,000,000& 123,000 130,000 A7,000
NHEAZHE LM XS HS KA 40,500 45,000 24,500
307 glz2tol & 40,500 45,000 A 4,500
04 QIZFHALAIH B = 40,500 45,000 A 4,500
ONMEA=H A-dMENSUH &It 24l X
(o) 23 9,000,000& 9,000 10,000 A 1,000
ONMEAN=H AEMEHSUHS HE (0 A&E
z) Z2 & 31,500,000& 31,500 35,000 A 3,500
MEHNsHISHIR 153,000 170,000 A 17,000
307 glz2+0l & 153,000 170,000 A 17,000
04 QIZFHALAIH B = 153,000 170,000 A 17,000
02019 E=Al -2l (REAY) SRUs HA
(Bxg dH)(0aE2) AFEF 40,500,000 40,500 45,000 A 4,500
02019 ZEHEMMEHNSUHS HINEEXE &
) (Ol ArE ) Z2 & 22,500,000& 22,500 25,000 A 2,500
OHN29sl Z=EceMasis FIH(EXE &
W) (Ol ArE ) Z & 90,000,000& 90,000 100,000 A 10,000
AMOIAZ 2|3 X & 18,000 20,000 A2,000
307 i+l & 18,000 20,000 A 2,000
04 QIZFHALAIH E = 18,000 20,000 A2,000
OAlRI A2 2IIHH3] M=l (olatE2)
Z & 18,000,000& 18,000 20,000 A 2,000
FED=EF2US XA 46,800 52,000 25,200
307 glz2tol & 46,800 52,000 25,200
04 DIZHHALALSE E X 46,800 52,000 25,200
OZ=cld XNIold 20U Ha (ol aE2)
2 & 9,000,000 9,000 10,000 21,000
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@4 Ms8d x4 (cho &)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 IR Husz
O&=eld SUs &It &Y XNI(Ex8 3y
YOl At E ) 23X 1,800,000 1,800 2,000 A 200
Odetiisss2EsAUE =l 240
3 JNE (o AEZ) 2 & 36,000,000 36,000 40,000 A4,000
A=ZIIQMMHSUHE XA 90,000 100,000 A 10,000
307 eI2+0l & 90,000 100,000 A 10,000
04 QIRFSH ALALS B X 90,000 100,000 A 10,000
OM128 FZD|0aH MEHNSE =5 xH
ZAUE (0l A E2) 23X 21,600,000 21,600 24,000 A2,400
OM123 HF=SI0a B=SSAHOESH
Sl(0l A=) 23X 27,000,000 27,000 30,000 23,000
OM73 &= SINULMEAN A=2SSUAMNEUS
(Ol AHE2H) 2 17,100,000 17,100 19,000 A 1,900
OHM428 F=ZD|0aH 8=2=501 L 0|l=Hl
LIATHE (Ol &t E 2) 23X 24,300,000 24,300 27,000 A2,700
MEHFIE NS X2 49,000 55,000 26,000
307 eI2+0l & 49,000 55,000 26,000
04 DIZFSHALAL B X 49,000 55,000 A 6,000
02019 L=AIQ XA HEIICHE HE (OI&E )
23 9,000,000 9,000 10,000 A 1,000
OHM728 Szt OEST HE (U AEZ)
23 40,000,000 40,000 45,000 A5,000
2WUHSTUEZCOIALEE M2 A012 03 63,000 70,000 A7,000
307 eI2t0l & 63,000 70,000 A7,000
04 QIZHSH ALALH B X 63,000 70,000 A7,000
OM218 =0 MESETE=ESHOIAIEHI &S AL0I2
3 2 2019 OIAEIZEFTEN HE (M AR
2) 2 & 63,000,000 63,000 70,000 A7,000
HI22AMH3 XA 48,300 57,000 A 8,700
307 eI2+0l & 48,300 57,000 A 8,700
04 QIS ALAL B X 48,300 57,000 A 8,700
ON93l St=24d=SA4E3I A Mg sAH
3l HEI(olArE ) 2 E 48,300,000 48,300 57,000 A 8,700
MI2ZC3 XA 18,000 20,000 22,000
307 eI2+0l & 18,000 20,000 22,000
04 QI ALALH B X 18,000 20,000 22,000
O&HI2SEHMIIE H23 FF=AIEI B=EUH
STOU3E HE(KAEZY) 2 18,000,0009 18,000 20,000 A2,000
BI2USATXHEINEXLA 27,000 30,000 23,000
307 QI2t0| & 27,000 30,000 23,000
04 QIZHSH ALALS B X 27,000 30,000 23,000
ORN9s S2USFAZXUE NE(BES90%)(
Ol AR 2E) 23 27,000,000 27,000 30,000 23,000
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HH: HEome FE(SBSL2F/HK)

@4 Ms8d x4 (cho &)
£ Y- HA(S) - NRMY - BES Ofl & oH JEH Hns2Z
d=2=720U3 XA 40,500 45,000 A 4,500

307 gl2tol & 40,500 45,000 A 4,500

04 DI2ZHHALALSE E X 40,500 45,000 A 4,500
ON168 FFAFINED H2E2UE MHE(2

T8 FH)(oazd) 2 & 40,500,000& 40,500 45,000 A 4,500

a8 AI|HS XA 45,000 50,000 25,000

307 21201 A 45,000 50,000 A5,000

04 DIZHHALALSE E X 45,000 50,000 25,000

02019 A F:A S 2 A4I|0H5] N (0 AEZ)

2 & 45,000,000& 45,000 50,000 25,000

A= SC0LE U3 18,000 20,000 A 2,000

307 21201 A 18,000 20,000 A 2,000

04 QIZFHALAIH B = 18,000 20,000 A 2,000
O2019YMCA ¥ =202 s & SF S & UM

SaZ JdLU3 (0aE2)ZHE 18,000,000 18,000 20,000 A 2,000

SIS 45,000 50,000 A5,000

307 glz2+ol & 45,000 50,000 A5,000

04 QIZFHALAIH E = 45,000 50,000 A5,000
02019 S =Al&HIbh 9N A B 2 CHS] (Ol &

) Z & 45,000,000& 45,000 50,000 A5,000

MEHEET=SY 51,185 55,000 A3,815

206 M= Hl 21,185 25,000 23,815

01 =8l 21,185 25,000 N3,815
QUENSES ZIIS83 NI (BT A)

Z & 21,184,200& 21,185 25,000 A 3,815

()™= tHEQE s X 10,000 0 10,000

< 10,000 0 10,000

307 gl2tol & 10,000 0 10,000

< 10,000 0 10,000

04 DI2ZHHALALSE E X 10,000 0 10,000
OZZ=Al ALY MIHEUE Ul (=Hd4

& AS) 10,000,000& * 14 10,000 0 10,000

& 10,000 0 10,000

(INLM=SE &H XA 16,400 0 16,400

J| 10,800 0 10,800

Al 5,600 0 5,600

307 21201 A 16,400 0 16,400

J| 10,800 0 10,800

Al 5,600 0 5,600

02 IZtE S AHE L 16,400 0 16,400

O3FEANXRAL 2 10,800 0 10,800
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R ESE=an);
HH2LZH (MSTEL)(IIEHIIE
Jl=23tl

SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
—=SA EH(0IMEZY) FF 2,700,000¢ 2,700 3,000 A 300
—ZRH EU(SH)(0AER)

23 2,700,000 2,700 3,000 A 300
OJIE AFRZ2IH(ZEIHE S=2) (0l AHE2)
23 1,098,000 1,098 1,140 A42
202 Ol 69,794 78,660 A 8,866
01 2o 69,794 78,660 A 8,866
OZUHOHI(ZRINE S=2)(0AE2)
A 49,248,000 49,248 54,720 A5,472
OZAUHI(ZEINE S=2)(0AE2)
A 20,546,000 20,546 23,940 A3,394
203 YR EXH| 3,240 3,600 A 360
04 BN2IYRERH| 3,240 3,600 A 360
OBNSILL2FAH (0lAHEZ)
ZA 3,240,000 3,240 3,600 A 360
HeSS(HSUED) (2L 22/HS) 3,196 3,061 135
CRSPNES 3,196 3,061 135
BEXE 3,196 3,061 135
802 EH& 3 DI EF 3,196 3,061 135
01 2DExZea= 13 0 13
020184 13 0 13
—AZXAI0I22E X (0X)
12,7300 * 1Al 13 0 13
02 Al - SHEXZBa2 3,183 3,061 122
020184 122 0 122
—ANZMBHSANCA DEH X
120,000 * 14l 120 0 120
—ANZMEBHSXNESA DEH X (0IX)
1,200 * 14l 2 0 2




